3.8 Homework (SSS and SAS Proofs) 
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\vmcn postulate, if any, can be used to prove the triangles congruent?
4 7 15. I: j

18. Explain what additional information, if any, you would
need (0 prove AABC = ADEC by each postulate.
a. 855 b. SAS
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PRACTICE AND PROBLEM SOLVING

Use SSS to explain why the triangles in each pair are congruent.

8. ABCD= AEDC 9. AGIK= AGIL
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10. Theater The lights shining on a stage appear
t0 form two congruent right triangles. (e
Given EC = DB, use SAS to explain why
AECB = ADBC.

Show that the triangles are congruent for the given
value of the variable.
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Prove: AABD = AABC
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